MANATEE COUNTY GOVERNMENT INTENT TO AWARD

| IFB NO. / TITLE | IFBC No. 22-R079916ED Johnson Preserve at Braden River Recreation Amenities | DATE POSTED | MC | DS | |
|-------------------------------|---|-------------------------|--------------------|-------------------|--|
| PROCUREMENT REPRESENTATIVE | Emily Diaz Senior Procurement Agent | PROJECTED AWARD DATE | February 7, 2023 | | |
| DEPARTMENT/DIVISION | Natural Resources Department - Resource Management Division | AUTHORIZED BY DATE | Jacob Erickson, Pu | rchasing Official | |

NOTICE OF INTENT TO AWARD

The Manatee County Procurement Division provides notice of its intent to award a contract with Adam Boyd Bobcat Services, Inc. for the provision of providing recreational amenities such as a parking lot, shell trail, pavilion, fence and kiosk at the Johnson Preserve at Braden River.

ENABLING/REGULATING AUTHORITY

Manatee County Procurement Ordinance, Sec 2-26.

BACKGROUND/EVALUATION

The Scope of Work includes construction of a parking lot, shell trail, pavilion, fence and kiosk at the Johnson Preserve at Braden River.

The solicitation was advertised on October 12, 2022 on the Manatee County website and DemandStar. It was also provided to the Manatee County Chamber of Commerce, the Manasota Black Chamber of Commerce, Gulf Coast Builders Exchange and Gulf Coast Latin Chamber of Commerce for release to their members and in theBradenton Herald and Tempo News newspaper. A response was received from the following firm:

1. Adam Boyd Bobcat Services, Inc., Wimauma, FL

EVALUATION SUMMARY:

Adam Boyd Bobcat Services, Inc. was the lowest responsible, responsive bidder. A bid tabulation of the results is attached to this Notice of Intent to Award.

RECOMMENDATION

The Procurement Division and the Resource Management Division recommend award to Adam Boyd Bobcat Services, Inc. Bid A - 45 calendar day completion.

| ATTACHMENTS | | COST | |
|-----------------------------|----------------|------|--------------|
| (List in order of attached) | Bid Tabulation | | \$266,558.82 |

BID TABULATION

ADAM BOYD BOBCAT SERVICE, INC.

IFBC No. 22-R079916ED JOHNSON PRESERVE AT BRADEN RIVER RECREATION AMENITIES

Project No. 6094601

BID A
BASED ON 45
CALENDAR DAY
COMPLETION

| ITEM DESCRIPTION | | UNIT PRICE | | | | |
|------------------|-------------------------------------|---------------|--|--|--|--|
| 1 | Base Bid (Subtotal) | \$ 242,326.20 | | | | |
| 2 | Contigency Amount (10% of Subtotal) | \$ 24,232.62 | | | | |
| 3 | Total Bid Price | \$ 266,558.82 | | | | |

IFBC 22-R079916ED PROJECT No. 6094601 JOHNSON PRESERVE AT BRADEN RIVER RECREATION AMENITIES

BIDDER: Adam Boyd Bobcat Service, Inc.

| BID A | |
|-------------------|---|
| 45 DAY COMPLETION | J |

| DIDDEK | idder: Adam boyd bodcat Service, Inc. | | | | | is bill confident | | | |
|-------------|---|------|-------|----|-----------------|-------------------|---------------------|--|--|
| ITEM NO. | DESCRIPTION | UNIT | QTY. | U | UNIT PRICE (\$) | | EXTENDED PRICE (\$) | | |
| 1 | MOBILIZATION | LS | 1 | \$ | 44,000.00 | \$ | 44,000.00 | | |
| 2 | MISCELLANEOUS PERMITS AND BONDING | LS | 1 | \$ | 8,100.50 | \$ | 8,100.50 | | |
| 3 | CONSTRUCTION SURVEYING (STAKE-OUT AND RECORD DRAWINGS) | LS | 1 | \$ | 6,500.00 | \$ | 6,500.00 | | |
| 4 | EROSION AND SEDIMENT CONTROL (STAKED SILT FENCE AND MAINTENANCE - | LF | 1,500 | \$ | 2.50 | \$ | 3,750.00 | | |
| 5 | CLEARING AND GRUBBING (TRAILHEAD/TRAIL) | AC | 0.97 | \$ | 8,500.00 | \$ | 8,245.00 | | |
| 6 | TRAILHEAD | | | | | | | | |
| 6.1 | Excavation/Embankment (Haul, Place, Compact) | CY | 172 | \$ | 40.00 | \$ | 6,880.00 | | |
| 6.2 | Finish Grading | SY | 962 | \$ | 1.50 | \$ | 1,443.00 | | |
| 6.3 | Sod (Argentine Bahia) | SY | 215 | \$ | 4.50 | \$ | 967.50 | | |
| 6.4 | Seed and Mulch (Argentine Bahia) | SY | 45 | \$ | 3.00 | \$ | 135.00 | | |
| 6.5 | Disposal of Unsuitable Material | TON | 100 | \$ | 80.00 | \$ | 8,000.00 | | |
| 6.6 | 5' Shell Path (4" Bank Run Shell) | SY | 45 | \$ | 22.00 | \$ | 990.00 | | |
| 6.7 | #57 Stone Drive & Parking Spaces (6" - Rolled in Place) | SY | 345 | \$ | 22.00 | \$ | 7,590.00 | | |
| 6.8 | 6" Concrete Parking | SY | 55 | \$ | 160.00 | \$ | 8,800.00 | | |
| 6.9 | 8" Stabilized Sub-base (LBR 40) | SY | 435 | \$ | 5.50 | \$ | 2,392.50 | | |
| 6.10 | 4" Concrete Sidewalk | SY | 5 | \$ | 135.00 | \$ | 675.00 | | |
| 6.11 | Type A Curb - Concrete | LF | 30 | \$ | 60.00 | \$ | 1,800.00 | | |
| 6.12 | Milling and Asphalt Pavement | SY | 71 | \$ | 116.20 | \$ | 8,250.20 | | |
| 6.13 | 6" Base (Caloosahatchee Shell or Approved Equivalent) | SY | 43 | \$ | 22.00 | \$ | 946.00 | | |
| 6.14 | 6" Stabilized Sub-base (LBR 40) | SY | 48 | \$ | 5.50 | \$ | 264.00 | | |
| 6.15 | Wheel Stops | EA | 7 | \$ | 125.00 | \$ | 875.00 | | |
| 6.16 | Handicap Pavement Markings | LS | 1 | \$ | 250.00 | \$ | 250.00 | | |

| ТОТА | L BID PRICE | | | | \$ 266,558.82 |
|--------|---|----|------|-----------------|------------------|
| | Contingency Amount (10% of Subtotal) (Used only with County Approval) | % | 10 | | \$ 24,232.62 |
| Subtot | | | | | \$ 242,326.20 |
| | | | | | |
| 8.2 | 4" Concrete Pad | SY | 44 | \$ 225.00 | \$ 9,900.00 |
| 8.1 | 16'X20' Pavilion | LS | 1 | \$ 35,000.00 | \$ 35,000.00 |
| 8 | PAVILION | | | | |
| 7.3 | Seed and Mulch (Argentine Bahia) | SY | 320 | \$ 3.00 | \$ 960.00 |
| 7.2 | Sod (Argentine Bahia) | SY | 25 | \$ 4.50 | \$ 112.50 |
| 7.1 | 10' Shell Trail (4" Bank Run Shell & Thoroughly Compacted Soil) | SY | 3410 | \$ 19.00 | \$ 64,790.00 |
| 7 | SHELL TRAIL | | | | |
| 6.20 | 3' Wood Split Rail Fence (10' Rails) | LF | 260 | \$ 36.00 | \$ 9,360.00 |
| 6.19 | Handicap Parking Sign | EA | 1 | \$ 550.00 | \$ 550.00 |
| 6.18 | Stop Sign (R1-1) | EA | 1 | \$ 550.00 | \$ 550.00 |
| 6.17 | 24" Stop Bar | LS | 1 | \$ 250.00 | \$ 250.00 |